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QUESTION 1

Which of the following techniques can you use to improve the performance of calculation views?
Note: There are 2 correct answers to this question.

A. Limit the number of stacked calculation views

B. Avoid aggregating data early in the dataflow

C. Implement union pruning

D. Partition large tables

Correct Answer: AD

QUESTION 2

Why does query performance decrease when the data volume of the delta storage is large?
Note: There are 2 correct answers to this question.

A. The data is unstructured.

B. The data is uncompressed.

C. The data is stored in the warm tier.

D. The data is NOT sorted.

Correct Answer: BD

QUESTION 3

In SAP HANA Series Data, which of the following methods do you use to convert finer interval readings to a coarser
interval?

A. Vertical disaggregation
B. Horizontal disaggregation
C. Vertical aggregation

D. Horizontal aggregation

Correct Answer: D

QUESTION 4
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Which of the following are warm tier Solutions? Note: There are 3 correct answers.
A. Active / active read-enabled mode

B. Native Storage Extension

C. Extension Node

D. Dynamic Tiering

E. Persistent Memory

Correct Answer: CDE

QUESTION 5

When using the CONTAINS predicate, what are the restrictions you must keep in mind? Note: There are 2 correct
answers to this question.

A. Non-physical columns, such as calculated columns, are not search-relevant.
B. The NOT (-) operator can only be specified directly after the OR operator.
C. Wild cards * and ? are supported for text columns but not string columns.

D. If several tables are joined, all columns mentioned in the CONTAINS predicate must come from only one of the
tables.

Correct Answer: AC
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